VOLKSWAGEN

Group Motorsport

customer racing = SPORT Motorsport

A Audi Sport e SEAT Volkswagen

Kit Instalation Guide for Scrutineering logger

Application to:

- VAG cars with Sequential gear box
- VAG cars with DSG gear box

22-Jan-18 Audi Sport Customer Racing / Volkswagen Motorsport / SEAT Sport



Kit Instalation Guide for Scrutineering logger

BRACKET FOR TCR SCRUTINEERING 2018 EVOS5 KIT

VW AG reference: 5F6129101B
Net price: 246.68€

VW GROUP MOTORSPORT offers to customers the “Bracket kit for TCR Scrutineering EVO5”,
compulsory for the TCR International and in many of the TCR National championships.

How to order:

- To adquire Bracket kit for TCR Scrutineering EVO5, Through online catalogue to:
http://vwgroupmotorsport-onlineplatform.com/

-To adquire the Scrtutineering Data logger Evo 5 kit please contact to Memotec GmbH
to : http://www.me-mo-tec.de/

22-Jan-18 Audi Sport Customer Racing / SEAT Sport / Volkswagen Motorsport 2


http://vwgroupmotorsport-onlineplatform.com/
http://vwgroupmotorsport-onlineplatform.com/
http://vwgroupmotorsport-onlineplatform.com/
http://vwgroupmotorsport-onlineplatform.com/
http://vwgroupmotorsport-onlineplatform.com/
http://www.me-mo-tec.de/
http://www.me-mo-tec.de/
http://www.me-mo-tec.de/
http://www.me-mo-tec.de/
http://www.me-mo-tec.de/

Kit Instalation Guide for Scrutineering logger
The VW AG reference includes :

Num. | Name Units Photo
f——
1 THREADED ADAPTER 1 ="
2 RACORD 902 M10X1 TO TUBE @6X4 (LEGRIS) | 2 gﬂh
=

3 FLUOPOLYMER LEGRIS TUBE @6x4 L=25m 2.5m

4 FITTING 1

5 CLIC CLAMP 21,5 - 23 MM 2

6 ANGLE BRACKET 1

7 @8 RUBBER CAP 1

8 RIVET NUT M6 1

9 TORX SCREW M6X20 1

11 STRAIGHT ADAPTER (M/F) M10X1 1

12 ALUMINIUM WASHER 10X 14 X 1,5 1

13 LOCK NUT M5 DIN985 2

S

1}

(B

10 LOCK NUT M4 DIN985 8.8 4 Q
-

O

22-Jan-18 Audi Sport Customer Racing / SEAT Sport / Volkswagen Motorsport



Kit Instalation Guide for Scrutineering logger

How to install:

1. Fixthe scrutineering plate on the codriver side. Fix the bracket (A) plate under the speed
unit and the scrutineering logger base (B) (not included in the kit).

2. Fixthe boost pressure (C) sensor on the base. Connect the Teflon pipe from the boost
sensor to the inlet manifold. Pass the pipe through the engine bay wall. Following the fuel
pipe is an option, but you can find other ways. Also you can use the base to fix the AIM
camera and other optional.

=

22-Jan-18 Audi Sport Customer Racing / SEAT Sport / Volkswagen Motorsport



Kit Instalation Guide for Scrutineering logger

How to install :

3. On the plastic inlet manifold there is a blind plug ready. Drilla 1,5mm hole inside. To do it,
it is not necessary to dismount the manifold, wet the drill head with a drop of grease and the
small shavings will fix there; Fix the adaptor with the clamps supplied.

22-Jan-18 Audi Sport Customer Racing / SEAT Sport / Volkswagen Motorsport



